Oracle10gd SCNO TimeStamp O O OO PDFO O OO O O O
Oo0o0oooooon
https://www.100test.com/kao_ti2020/143/2021 2022 Oraclel0g E4
€102 _143643.ntm 0 0 0O 0O O 0O O O (flashback) O O O O
OOraclelogd DO OOOOSCNOOOOOOOOOOO O
[0 O O dbms_flashback.get_system change_number [J 00 O O O
0 0O 0O O SCNO O SQL> col scn for 9999999999999SQL > Oselect
dbms_flashback.get_system_change number scn from dual.
SCN-=-=-mmmmmeeee 8908390522972 [ scn_to_timestampll LI I [
O SCNO O 0O O 0O 0O :SQL> Oselect
scn_to_timestamp(8908390522972) scn from dual.
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[ timestamp_to scndJ O 0O O O O O O O SCN:SQL> Oselect
timestamp_to_scn(scn_to_timestamp(8908390522972)) scn from
dual. SCN-------------- 8908390522920 U OO OO
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[ O :SQL> Oselect min(FIRST_CHANGE#)
scn,max(FIRST_CHANGE#) scn from v3archived log. SCN
SCN- == e e s 8907349093953
8908393582271SQL> Oselect scn_to_timestamp(8907349093953)
scn from dual.Oselect scn_to_timestamp(8907349093953) scn from
dual*ERROR at line 1:O0RA-08181.: specified number is not a valid



system change numberORA-06512: at
"SYS.SCN_TO_TIMESTAMP", line 10RA-06512: at line 1SQL>
Oselect scn_to_timestamp(8908393582271) scn from
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